





When a small amount of garden soil is put
inio a glass jar containing water, stirred and
allowed to stand for two hours, the layers from
top to botiom would be

1. debris, water, sand and clay.
2. humus, water, clay and sand.
3. debris, cluy, gravel and sand.
4. humus, clay, gravel and sand.

Which of the following is an example of a
single cell that does not function as a full-
fledged organism?

White blood cell (WBC)
Amoeba
WRBC and Amoeba

. Paramecium

Br o

I. bonly
2. bd
4 aonly
4, cd

Meena had a big farm. On Sunday she went

1o her farm and was surprised 10 see a house
being construcied and a wooden almirah being
made out of a tree.

This may be considered as

reforestation
desertification
deforesiation
drought

eph e

Which of the following is correct?

a,b
a,d
c alone
a alone
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6.

Read the following.

a.  Malaria is transmitted by a virus,

b. Cholera is caused by Mycobacterium.

c.  Salmonella typhi spreads through soil
and water.

d. Varicella causes chicken pox.

Which of the following is true?

P LA RS e
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Weeds not only use nutrients from the soil but

are also

L harmful for some organisms including

© human beings.

b. useful for the crops and harmful for
human beings.

¢. harmful to the crops and some animals .

d. crop specific.

Select the alternative which includes all correct

statements,
,ﬂ’::;md

b,cand d
a, band ¢
a,bandd
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Match the items in Column I with Column I1.
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2. A-¢,B-d,C-bD-a
3. A-c¢,B-2,C-d,D-b
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found that he had

A, low of RBC ;

b.  high number of WBC and low number
of RBC

c.

low number of WBC

= bl gl

10. Read the following about d
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Of the materials listed below 29.  @08% algleqs|omlulsas anodmosmgls
A Water (Distilled) ME AHUY® a0CISEmIE oDl [aflens
B. Solution of common salt eeadt
C. Mercury A, melo (wigiolad (nog)) ®me)
. Cavstic soda solution B. aolujy] enailm s
E. Glycerine C. sadea)d) (Bove)
a set of materials consisting of good D. soqfle: aavonn enmin
conductors of electricity is E. gwrocios

. ABC

2. ADE

3 CAEBE

# BCD
Two mirrors M, and M, are placed at right 30. o) ndypmemad M, po, M.l quassoaiked
angle to each other as shown. The total allmomiod eoemlaflelenmmeanee niajial
number of images of an object ‘0’ that can be @03y, O agem umanailend agim (i
seen are anueIRud @oam)ruond muouileayat

1. oand
2. Three. P gl
3. Four. (54 4. aemouu (mRmamna)
4.  Infinite. 7
MI
o
M2

On passing through a prism, a parallel beam 3. eo) wisaosm ilmuooiod sl ouny oubel
of sunlight splits into lights of several colours, U8 ST CaR&IMIA aikl aidsemglenpsn
Take a combination of two identical prisms as (somnubdlago mea alleslenm). moae
shown below. @0em ofl 6180} N M) BalOE BEMA) TUaDN
(nfla)E@es Mosmows ANINETIkea):. muny
oddlaud AD aommi aolesm) apeiol
BC aunommas] agneomad am)om (s

ATl mommenanmowiolen)t
A B

A parallel beam of sunlight is incident on the
face AD. The emergent light from the face

-

BC, consists of L we adspemglengd quaoamo (almaw

1. aparallel beam of light of several colours. ouliglaud

2. a divergent beam of lights of several 2. aecifepeasglenss alius (mam)
colours, GalddlN) (i dnubalamud

3. aparallel beam of white light. 3. MeemozImas Wkl (nieow ouloled

4. adivergent beam of white light. 4. alueflonm wog (nsowosizleud




196

f_} : ZD 1 .ﬁl"x w—ﬂhfﬂ: .;‘O

12

/

1.
2.

II

2

32. Ahal[ofmassﬂ.’l@kgfal]sﬁulyﬁ'nma,; 32 G.Z'ﬂkgmmaquﬁuqmﬂnnm
certain height and rebounds elastically with a - omlmd mkmje midmowe aEles)m). el
speed of 40 ms*, The change in momentum @enmimlaan] moae mgl 40 m &' eanm
of the ball is | 03 Basoem)am). cauoglon] ames alymyoTue

\ gy aoeie M et s
2% T
I. 4kgms! 5 - 3 4
ﬁ% 4 %\égﬁ _2" 8kgms’ X Hy -9+ 27=2S
X 3. 16kgms’ P S *1 —"'f"gl
= £ 4. 40kgms' - 16, z 5. L =
\I M‘*‘o}(gufb kg )(Q-L\’.J‘!‘Z J-t - f. =U
-J-st vl A% +4R
The force of friction acting on a car on 33, alalw ooomqaglﬂ 0} @ocled mm]enng)
different roads in the increasing order of magnitude sym eaidsssmauaiomlen segal myeno
will be ANETD (dhBmTilad nfEBHm
1. mud, tar, concrete and gravel roads Dowa)ot
2. tar; concrete, gravel and mud roads 1. 9aig), 504, caomdad, aiond soonu)ed
3. concrete, tar, gravel and mud roads gﬂi‘mm‘”“"r“jmﬁ
4. gravel, mud, tar and concrete roads b ""'":"::m sﬂ.mma:,h.‘lg b

34.  Voice of which of the following creatures is 4. ooew malaloidlenm Rameeghed ngoladd
likely to have maximum frequency? wminamimoe ofigane &)slo nm;m’l
L. Man oegait
2. Cow ;' b e L

) . akm)
37 Bid 3 )
4. Dog 4. ig)

35.  When we look towards the pole star, it appears 35 moe wiumeamomloniad emies)emod
stationary because Al WAIRIBIW] HOMMOSIME agam)
1. :tuvcryﬁﬂ'ﬁ'ommthasmnwedm Ddn0sTRoa? :

other stars. L. o mesmmemep mwaasals] @aal Eal
2. it moves with much lesser spwd than wlm mlomje Agen @aee dquolol
others stars. Qa2 kg
3. it is pointing exactly in the south 2. 25 MSMTEDHE MBaISA] TR nIpe
. direction. )OGE0 GaNNmOed muemTken)m].
/,4: it is pointing exactly in the north 3. mal eymieon] emes) dw aujalaf
Tl 4, nnﬁqm;mmmﬁn;m

36, If(x-1P+(y-3"+(z-57 +(t-7)*=0, then 36, (x-1P+(y-3) +(z- 5P+ (1- 77 =0, apywond

xyz+ 16 is equal to xyzt+16 oF oyeimondd apoi ¢
LI+ 2 I+ .
12)
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digits and y exceeds x by 6. If this number is

divisible by 18, then the value of% is

3

A person invested 3 times as much money at
5% as he had invested at 2% per annum simple
iiiterest. Further he invested Rs 6000 more at
3% than he had invested at 2%. If the total
inierest from the three investments afier a year
is Rs 980, then the total amount he invested is

ol it o

o€ &

In a triangle ABC, AB=AC. Points D and E
are on the sides BC and AC respectively such
that AD = AE. If ZBAD = 30° then the
measure of ZEDC is

\2°

bW N-

Population of a town increased by 1200
persons in a4 year and then this new
population decreased by 11% during the next
year. If the town now has 32 persons less than
it had before the increase, then the original
population of the town is W

[boo 6

12°°

13 %%%

41, 1x3y6 apmm mmemesTuoaymilnd X,y agario
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42, ool muowonem aeflodied 2% mlossiod

mos) 3% mioadiod miasamlamm. afiee
mrwad 2% miesolsd mloedialls m)@eom
aoaud 6000 oju osymed 3% mlossiod
mrilasainlleaymm). Bo) b S¥iamd g aymi
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mySsmEIcl MRMOROS TRadE TTICSaaIm]d
AL mosTi?
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Rs 18000
Rs 20000
Rs 26000

43, . (mleassmo ABC mimd AB= AC. D, E ngym
sniimyaacd owa@ae BC, AC apmml axsan
gleosni. ejsoam AD=AE m@je mmar.
ZBAD = 30° apmomd ZEDC awgal gum
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47.

49,

How much percent above the cost price should
a shopkeeper mark his goods so that after
allowing a discount of 20 % on the marked
price, he still has a gain of 10 %?

Zydon

g A

L 1.
2.
3

4,
If in a group of goats and hens, the number of
legs is 24 more than twice the number of heads,

then the number of goats in the group is

F 2% 7t
it (2 1.

- &8 2 2,

71 4+2%
Mﬂ’x’+2a=y’+b’y:}l-m'(a'x’+2b’r?+b=y:)
(axsbyy

15 equal to ’
2,
3.
4

The lengths of the sides of a right angled
triangle are all given in natural numbers. If
two of these numbers are odd and they differ
by 50, then the least possible value for the third

side is A J

E is the midpoint of diagonal BD of a
parallelogram ABCD. If the point E is joined

1
to a point F on DA such MDanDA.l]wn
the ratio of the area of DFE to the area of

quadd-xm] A.BE;si
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i
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45.  an) dhaniSasonal MRWOAINS MUOWMDEBUIHS

20% aueiamengge 10% ensane alldles;m
allermisd algsmeseis’ ool nosmio alle)

W AU DDENT ]S MEOT] WSTOPO|

5}4)05D]a G0¥SE105D)0 Ga) (]o]las,
MEISPOS PERODING ol ag)omendid
24 aysymenst soenemes papoaiol
Wy (Njaflel ARS|AENS aRsRo ~RLDXmoE?

Ma’x’-'-za’y’i-b’y‘}ray(a’x’ﬂb’fﬁ’y’)
" Aaxsbyy
A AIBDEIT RIS ngmos?

47.

a(x +y)

bx
ax

+ ay

+by

bix +y)

[ I

Uh LA

48. @) agimleacsmaTiecg nwemges migamed
afeped auenysgled manldleaiom). olnd
oend MuosydiA BgTUeRI e@le @R maes)
anas aimydmve 50 po anwond mymmonnom
uwowieng mlgmmec apgale sadlo aelys
apomominlanet

)
muarmolae ABCD wlee ailedspe BD
wes awyenimmoe E. E apmn ailmjane
DA aolengs F agym enilmjnge smol eoosi
1
aflaflolaam). a)soem DF = 3 DA w0

mymond (lesosme DFE wjesm)e sim)dems
ABEF aajmije afloimdsgpsmed
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50.  An equilateral triangle and a regular hexagon

31,

52,

33.

have equal perimeters. If the area of the
triangle is 12 dm’, then the difference of their
areas (in dm’) is

.
S

15
The cost of diamond varies directly as the
square of its weight. A diamond weighing 10
decigrams costs Rs.8,000. If it breaks into two
pieces whose weights are in the ratio 3 : 2,

then the loss incumq:'I.(in rupees) is
r A
h Ay e 2 2.
| o 3,
4,

Area of the four walls of a room is 108 m’.
If the height and length of the room are in the
ratio of 2 ; 5 and the height and breadth in the
ratio 4 : 5, then the area, in m?, of the floor of
the room is

Fall o

Four pipes each of 5 em in diameter are to be
replaced by a single pipe discharging the same
quantity of water. If the speed of water
remains same in both the cases, then the
diameter (in cm) of the single pipe is

1.
2,
-,
4,

15
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3840

4160

52.

72
54
45

33
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apeemmsled afloioldapand o eyss
aymiaave (dm’ o) apmmonidlen)s?
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32 apmoat malond meaiso (0)ar0ied) agum
ooaleleno

a0} aickmes moel aljan)eg)es allnimldsgo
108 m* amajom). o olows sanssns
migaje mezleps mwomeumwe 2:5 go
Saneonlo aflmloge molenps @MU
45 go mywomd @y apdloies mow)es
aflmmidegge (m’o3) aguamaosmit

5 em augomuaas modl 8oy et aodl moem
G OUER0 B¥)HN BQODIR|dBR}M).
ouggmmlon] cunm oawlaje mycnasend
@Il Agesaigfieag alamse (cm md) agomo
wilaleage.

e ——




; 1
54.  If there are n numbers ofwili.chnmis[l-;]

55.

56.

57.

and all the others are 1's, then the arithmetic
mean of these numbers is less than 1 by

1. m
n
1
3."—1
1
4. -
n

If the mean of three numbers a, b and ¢ is 3,
then 3(7°-¢) (***) (7 ) equals

I e
o
Sz
[

Maich the names of foreign chroniclers with
the names of Indian rulers whose period
became the theme of their description.

Which of the following is the
matching?

W
e o,

What lands were assigned for the maintenance
of educational institutions under the Cholas?

1. Brahmadeya

2. Shalabhoga

3. Tirunanatiukkani
4. Vellanvagai

55.

56.

57.

54, n maﬁlﬂaﬁe@:[i-'ﬂmm

apgpo | go mRywond @m TussyS@es (@0
wal, 1 o8 mimjo agim @nansm.

a,b,c g muonIy @S waswal 3 mymond
%'(-?sﬂé-r)( -w-n)(-,.e-m-ﬁ)d-ﬁ myely @
O AIoeTT |

elmacaiam @onyod seamoafamiasng)ns
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i. eawomimaind 1. meenansial aloisl
ii. nDdarlaad b. nndaindaumad
iii. mikponnatad auecaml C. akmwaimeDayd
iv. anpemadmal d. muaipuaiomad
wokroml aanjonss] eadomlsnaa afmoai
a ; ivd

c iv d

a ;ivh

b S

GalP@IDOS BOAMHIQTD allnjos)0m0
MO (rrudomleasmooil Rom) &)l
woen’ miladlnidennggoit

1. (umseso

2. wenssn

3. oileymomog)aemil

4. aruppad uoean




Maich the names of the following tribes with
the areas of their settlement

i m%ulahnr
ii.  Kurichay njab

TANE DHIS]HO)MM GNAD WANSDIDSS
Gald)@Blo WRAIDIS ARIUTUDRITBEL Talod
GaidjontS] Qasdon)d.

i. e A, meisruod

b. "
iii. Go hira e ek

iii. ounosneyaul C. BaNIBOIS
iv. Kol adhya Pradesh iv. eaonila d. ewyaeacs

Which of the following is the correct
matching?

I. ib;iia;iiid
2.0a;iib; e

MISPRBIS) OISR agmosn) waolomo
Saidjoals] gardomilsia@oit

ivac
sivd

A ib;iid; iia;ive

4. ic;iia

If you lived in Agra during Shahjahan's time
what would you witness the most?

1. Rebellion of Rajputs

2. Alot of construction activity

3. Peasant rebellions

4. Flourishing banking activities

If you are interested in knowing the economic
history of a period, which of the following
sources can help you the most?

viiiod 5 iv b

rileanod ARIRAOOST SOLNRISTIINDS MRy Dkl
moemilafle)emeksl agm) Sofaroocidlen)e
aBRe RWlko hOam)d ¢

l. amaymaies algnio (eiang)

2. wonoge midmosminMBmTmE

3. adsaianes ailgjaie (Rinngamud)

4, magavaoni ageim susslsd (wdom
memiul

0] HOIEINEISERBIDE  TOITIH & @WImS (@
audlme mrilmond mismed moelaunye simn)
DU, MOSPaINmIMaIIed

a.  Coins mlemag agoale MUlee TUnnomles)s?
b. Holy Texts PR e ey

¢.  Inscriptions eeraninmaancs

d.  Architecture o

Find the alternative that indicates the correct
sel.

c. eilalmemud (wlanwommaod)

d. magmomiime (aoaboyailay)
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61.

62.

63.

Surat and Masulipatnam were important
trading towns in 17* century. However in the
18 century they lost their importance. Which
of the following was NOT responsible for their
decline?

1. Loss of market and productivity because
of the decline of the Mughal Empire

2. Control of sea-routes by the Portugese
and competition from Bombay

3. Fierce competition among various
trading groups like Golconda nobles,
Persian merchants etc.

4,  Shifting of company trade centres to
" Bombay, Calcutta and Madras‘/f

The worst effect of the agricultural
indebtedness was

I, the acquisition of land by money-
lenders.

2. distribution of the debtor’s land to others
by meney-lenders.

3. social boycott of the debior by villagers.
intervention by the Government,

Western education proved to be significant
because it

I.  changed the habits of Indians.

2. led 1o industrialization of India.
3. established democracy in India .
4

changed the thinking and outlook of the
Indians.

18

61.

62.

63.
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2. asssoned a0l pomademd apes
udanoml o afmndda)omoi.

3. esescosm (wismomilaud &5
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(nBWIMYe ADEBOM SHdblag?
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64.  The Indigo farmers (ryots) were facing

65.

oppressive conditions for a long time,
However, they decided to rebel against the
planiers in 1859 because

. ryots had to sign an agreement for
planting indigo against a loan.

2. planters forced the ryots to plant indigo
on the best soil meant for cultivating rice.

3. the price that the ryots got for the indigo
was very low and the cycle of loans never
ended .

4. ryots had the support of local zamindars,

village headmen as well as of the British
Government.

The Revolt of 1857 was a landmark in the
history of India because it

I ﬂug}ﬂ Indians to
' enemy.

. ~
' bﬁave confidence, cougage and hope to the
!ndian people.

against a common

a‘g transferred the power from the company
to the British Crown. :

d.” spread all over India and involved all
Indians.

Which of the following aliernatives has the
correct reasons?

,/I'f a, band c

a,band d

ek

a,candd
b, ¢ and d

-
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65.

podulens adesad Adreinoeieon] agmad
moje afluiime)eowiom). apelene 1859 o8

mad emiso @samuno]eowl seinnls)
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67.

Which of the following was NOT the reason

for the decline of Indian textiles at the end of

18" century?

I. The Indian textiles with traditional
intricate patterns had lost their demand
amongst the rich and middle classes.

b
H

Indian textiles had to compete with
British textiles in the European and
American markets.

3. Exporting textiles to England became
difficult due o high import duties.

4.  English cotion mills started producing
cheap cloth to oust Indian textiles from
Indian market.

Match the following.
a.  William Jones __i—Respect for

ancient cultures
il Critical of

Language

Which of the following is the correct

matching?

il e

People were afraid of sending the girls 1o
schools in mid-nineteenth century for many
reasons. Which of the following was NOT
true?

. People feared that schools would take
girls away from home.
2, Schools would prevent girls from doing
their domestic duties.
;," People felt that education would improve
the condition of women.

4. Traveling to school might have
corrupting influence on girls.
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70.

1L

B

Read the following.

The late nineteenth and early twentieth
centuries witnessed the rise of nationalism in
many Afro-Asian countries. The freedom
maovement in one African country was led by
Convention People’s Party through strikes,
boycotts and mass rallies. In 1957 that
country became the first sub-Saharan African
country to gain independence,

In view of the above which pair is correct?

I.  Nelson Mandela and South Africa
2. Col. Nasir and Egypt

3. Col. Gaddafi and Libya

4.  Kwame Nkrumah and Ghana

Mahatma Gandhi called off the Non-
cooperation Movement after the Chauri
Chaura incident because

l.  he intended to avoid probable arrest.
Moplah peasants in Kerala opposed him.
the movement had turned violent.

of growing opposition 1o his leadership
within Congress.

% N

Which of the following is the correct sequence
of the process of precipitation?

I.  unsaturated air, condensation, dew point,
A precipitation

2. dew point, condensation, unsaturated air,
precipitation
unsaturated air, dew point, condensation,
precipitation
condensation, dew point, unsaturated air,
precipitation
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4.
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-

Read the following statements.
a. Ozone is found mostly in the

stratosphere.

b. Ozone layer lies 55-75 kms above the
surface of the earth.

¢.  Ozone absorbs ultraviolet radiation from
the Sun.

/pf_ Ozone layer has no significance for life

on the earth.

Which set of the statlements is comect 7

I, -aandc
2. bandd
3. bande
4. aandd

Which of the following group of indusiries
belongs to sunrise industries?

1. LT., knowledge, aircraft, ship building

2. Ship building, health, 1. T., synthetic fibre
“3. LT. knowledge, health, hospitality

4. Knowledge, aircraft, hospitality, 1.T.

Which of the following pairs is correctly

1

2

3. Ural - While Sea
4. Danube - Black Sea

Which of the following is correctly matched?

1. Shimla Hills - Snow clad mountains
27 Aravalli - Oldest mountain

3. Nanda Devi - Located in outer Himalayas

4. SatpuraHills - Lie north of the Vindhyas

72.

73.

T4,

15

MR HAISYTTHTISAT LITHmOmened ol

0]

A @oomwad menmomle mijssegomiacloe
ol @arzynin)mal,

b. acemuomd gl eymemmmicd mim) 55-75
&) @ poommiens mudls o agyomad,

¢. @onmuoemd mujoymiked mkmies aeedison
wek] @losmaneg aRUTlaamo & alg)mm].

aemEPo (aimonmagosn’ uedluoalsiagait
1. ampc o
2. b opd op
3. bopc aop
4. aompdaop

DT ODIID AUOKTOD g NaEInd ARG

MYeRNAT AILOKTLIDEBEIE pulaqsiamait

l. ®apgl, nilmsmamo, allasmmidamoamo,
oyl mdanoamo

2. @nod midemosmo, @REOONL, End.gl.
&\ (mlamos)midaniems

3. oaggl, allEamome, GREAMNL0, RO

4. nilmemnome, alasmmldanoeme, meaiioe,
aag.gl.

agm) emaslwomi Gammjoais] caidomilnlaes)
amaii?

l.  apmdes - @omialomd &sod

2. oeoxnd - noulgle &Sl

3 pooud - ecendansod

4. owomyen - eolesod

@Mz oK AR Gaidjonts] aada]
5)g@0

l. ;o) @il - BaBM)A]Ma) akdajme

2. ameagf - agpae amescadio adajme

3. mmocaall - soan) anlm e m il
mudioil Dargan)

4. ouodiano @ymmed - almuyoiiodulad
asad qudlail @aigymm)




76.  The dotted areas in the given rough outline 76.
map of India indicate the distribution of

1, ,-"r Coal fields

20 Hydel power plants
/3. Iron ore deposits

4. Copper ore deposits

77.  Which of these are positive influences of .

human beings on the ecosystem?

A, Declaring areas as wildlife sanctuaries

B. Increasing biodegradable packing
materials that can be recycled

C. Removing pollutants from toxic
industrial smoke

D, Using the natural resources intensively
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78.

79.

8.

Match list I (Forest types) with list I (Types
of trees)
List-1 List-IT

Which of the following is the correct
matching?

Pl ol

Which of the following is the correct sequence
of countries from high to low with reference
to annual rate of natural increase of
population?

1. Angola, Iran, Canada, Pakistan

2. Angola, Pakistan, Iran, Canada

3. Pakistan, Angola, Canada, [ran

4. Pakistan, Canada, Angola, lran

Identify the pair of countries which has
subsistence intensive agriculture,

1. India and Argentina

2. Brazil and Canada

3. Myanmar and Indonesia
4. Bangladesh and France

Assertion (A): Bangalore has developed as
the major [T centre in India.

Reason (R) : The Government of Karnataka
was the first to pass and announce an IT in
Policy in 1992.

Select the correct answer from the given
alternatives.

1. Ais false, R is true

2. Aisrue, R is false

3. Both A and R are true

4, Both A and R are false
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82.  Which of the following describes the common
property resource?
I.  Forests owned by the state
,;, Pastures, grazing lands used by
community
3. Wood lots, orchards used by cooperatives
4. Fruit orchards, grasslands owned by
individuals

83.  Read the following statements.
a. Unity in spite of dissimilarities implies
‘unity in diversity'.
b. Indians’ diverse dress and food habits
threaten national unity.
¢. There has been a feeling of general unity
among Indians since ancient time.
d. Communalism weakens ‘unity in
diversity”.
Which alternative has all the correct
statements?

Falad o

84. A ‘republic’ is a state in which the Head of
the State is
I.  nominated by the Prime Minister.
2.+ elected, directly or indirectly, by the
" people.
3. selected by the ruling party.
4. self-appointed.

85.  Indiaisa federal state because its Constitution
provides for

1. dual citizenship.
~=2.. division of powers between the Union
and the States.
3. awritten constitution.
4.  election of members of Parliament by the

people.
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88,

B9.

The appeal of Democracy 15 based on the fact
that Democracy

a. upholds freedom of conscience.

b. offers the opportunity of free thinking
and expression:

¢ guarantees equal opportunity to have jobs
in the public sector.

d. protects the privileges of the elite.

Which pair of answers is true?

1. aandb
2. bande
3, candd
4, apandd

Independence of judiciary is possible only
under

I. Communism

2. Fascism

3. Liberalism

4. Military dictatorship

Which Fundamental Right of the citizens of
India was violated in the Bhopal Gas Tragedy
(1984)?

Right to Equality

Right to Freedom

Right to Life

Right against Exploitation

B

State-controlled media is inconsistent with the
ideology of

1. Democratic State

2. Communist State

3. Fascist State

4. Theocratic State

India’s Constitution has specifically ensured
cultural justice for the minorities through

I. Preamble

-2~ Fundamental Rights
3. Directive Principles of State Policy
4.  Free Elections
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Directions : For the following
questions write your answers in the
given spaces in the answer sheet, Your
answer would be only in single
number. Do not write in words.
91-94. In the paragraph given below fill in the
numbered blanks by choosing words
from the given box. Write the number
of the word against the guestion number
in your answer sheel

91-100.

1. confiscated 2. lerritory
3. relatives 4. annexed.
5. empire 6. sovereign
7. heirs 8. emperor

At the end of 1859, the British introduced some
changes in their policies. One importani change was
that all ruling chiefs of the country were assured that
their (91) p - would never be (92)

in future. They were allowed to pass
on their kingdom to their (93) ___"7___ including
adopted sons. However, they were made to
acknowledge the British Queen as their (94)

paramount,

95.  Below are given some measures that people
can take to protest against injustice, Which
of these is NOT a way of public protest?

1.  Writing letters to the concerned
ministers.
2. Organizing a rally.
3. Starting 4 signature campaign.
_4  Blocking roads.
Write the number of your answer in the answer
sheet?

96.  The relationship of the following three is
Nitrogen — Bacteria — Planis

Considering this, which of the following
statements is true? Write its number in the

space provided.

1. Planis absorb nitrogen from the
atmosphere.

2. Bacteria is not necessary for plants to
make use of nitrogen.

~%  Bacteria changes the form of nitrogen to
facilitate plants to use it

4. Plants change the form of nitrogen on
their own to make use of it .
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The bar graph given below shows the
composition of the inhaled air in humans., A
person is standing in an open field. Write the
number of the correct bar of the inhaled air by
that person.
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Pairs of triangles are given in each of the
alternatives 1. 2, 3 and 4. Which pair of
triangles is not congruent by SAS congruence
criterion? Write the number of your answer
in the answer sheet.
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24 carat gold is known as pure gold. 22 carat
gold is prepared by mixing 22 parts of pure
gold with 2 parts of either silver or copper.
Mow-a-days 22 carat hallmarked jewellery is
marked by a number (916) which indicates
its purity. Which number should be marked
on 19 carat jewellery. Write the number of
correct alternative in the answer sheet.

* o4

B =

2100

Mohan has two identical balloons, one is white
and one is black. Both are filled with the same
amount of air and are tied so that no air can
get in or out. What will happen if both
balloons are put in direct sunlight?

1.~ The black balloon will become larger
than the white balloon.

2. The white balloon will become larger
than black balloon.

3. Both balloons will stay the same size.

Write the number of correct alternative in the
answer sheet.

913
833

750
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